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Options:

DNA has the hase Thyming but BNA has's U
DINA Rias 3 b sugarn but RNA has'a de
DNAGis a smigle strand while BRNA & 8 double helix
DRA'E nudeic acid but RNA s niot
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INSTRUCTION: s Please choose the BEST answer from the given ¢

Question:
Nucleic acids compose of monomers called......oo.o.....

Options:

Fatty acids

Amino acids

Monosaccharides
'Nucleotides
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INSTRUCTION; <iuls Please cthoose the BEST answer from the given o

Question:
Which of the following nitrogen bases are pyrimidines?
Options:

Cytosine - Adenine
Guanine - Cytosine
Thymine - Cytosine
Adenine - Thymine




Exam Name: Biology _Qz3_2014-15
Level:

Click on the question number to solve it.
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INSTRUCTION: «wii Plegse choose the BEST answer fram the given opt

Question:
A nucleotide that found in DNA but NOT in RNA is .........

Options:

Guanine
Thymine
Cytosine
Adenine




e question number to solve t. T
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Question:
Skeletal muscles are connected to bones by means of ...

Options:

'Ligaments
Tendons
Adipose tissue
Cartilage
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NSTRUCTION: <« Please choose the BEST answer from the given

Question:
Cartilages are

|||||||||||||||

Options:

Nervous tissue
Connective tissue
Cardiac muscle

~ Muscular tissue
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INSTRUCTION: <« Please choose the BEST answer fram the

Question:
Adipose tissues belong to

........................

Options:

Connective tissues
Nervous tissues
Muscle tissues
Epithelial tissues
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INSTRUCTION: <& Please choose the BEST answer

Question:
The DNA consists of ................

Options:

Three strands
' Four strands
One strand
Two strands
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Chipsslion:
Drgans are functionally coordinated in .

Options:
Cells

Crgan Systems

ke
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INSTRUCTION: =i Please choose the BEST answer from the gi

Question:
DNA replication follows a ..ooovveevvinen, Model

Options:

Non-conservative

Conservative

Semi-conservative

Conservative and semi-conservative
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Click on the question number to solveit.
(EERY o2 (SR R
Bio_Qz3_Ch09Sec2_2014-15 [ECH ;_@5_1 o)

INSTRUCTION: <« Please choose the BEST answer from the give

Question:

Translation of information on RNA occurs in the

---------

Options:

Chloroplast
Cytoplasm
Mitochondria
Nucleus
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INSTRUCTION: s+ Please choose the BEST answer from the give

Question:
Simply, translation is a copy of

aaaaaaaaaaaaaaa

Options:

1 Protein from RNA
DNA from DNA
DNA from Mrna

o RNA from DNA
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FINAL EXAM (Form B) First term Bioy, 101 20151436

34) mRNA is transcribed in the 1
A) Nucleus
B) Cytoplasm

:gmm four new m m’lﬂ



29) The earthw,

orms
Trachea| syste use thye .

J LI.I[}H_;; n in B mm
C) Gills

D) moist body Surfaces

30) Blood from the
‘A) Right atrium fenge pours directly ints,..
B) Left atrjum !
C) Right ventricle
D) Left ventricle

31) Which of these not t respiration.............
rue ? cellula
A) Produces carbon di #

oxide
B) Is a single stage.
C) Releases ATP
D) Break down glucose

32) Carbon dioxide, ATP and electrons
A) lay a role in glucose breakdown

B) Are inputs to Calvin cycle

C) Are products of the Calvin cycle

D) Are inputs of light reactions

33) In photosynthesis, sugar is produced in the. tarougi ——

A) Stroma , Calvin cycle
B) Stroma, Light dependent reactions

C) Thylakoid , Calvin cycle
D) Thylakoid , light dependent reactions

% - —




Membranes are composed [} S—— =
A) thspht}iipids oty
B) Nucleotides
C) Steroids
D) Lipoprotein

22)A piemnfaﬂﬂﬂﬂrandhﬁmm- ucleotide
A) Gene

B)Chromosome
€) Chromatin
D) Ribosome

"';_Whatﬂsmemake;npmhﬁnfmm ey
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b FINAL EXAM (Form B) First term BIOL 101 2015-143¢ ‘

——

l?'aﬂ'?;’f 1lecules from Glycolysis + Krebs cyche are .-
B) 4 ATP
C) 32ATP
D) 12ATP

15) Which of the following are meat-eaters?
A) Herbivores W

B)Omnivores ]
C)Producers b
D) Carnivores He 8

1?)---"----- contributes to blocked blood vessels and high blood pressure.
A) HDL Y

B) LDL
C) DHL
D)DSL

17) In an animal cell, DNA may be found in the..........
A) Lysosomes

B) Chloroplasts

) Nucleus and mitochondria

D) Cell membrane

18) The main matrix of bones is
A) White blood cells

B) Plasma

19) Which of the following has a single la
A)Stratified squamous epithelium

~ B)Pseudostratified columnar epithelium
C)Simple squamous epithelium
D)Simple cuboidal epithelium
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FINAL EXAM
| 7) Whato (Form B) First term BI0L 101 20151436
AN ewﬁu:ga N System does the trachea belongs to?
B) Respiratq
Circulato
D) Digestive
i
8) What process takes place in the lungs? L M
A. Food is digested & X
B. Wastes are eliminated G,
C. Ozis exchanged for CO; uisa¥ 8}
D. All of the above o A

9) Extracellular matrix (ECM) is made up of----
A) Cellulose

B) Chitin

C) Fibrin

D) Collagen

- 10) Which of the following is a product of alcohol fermen
Ethanol and carbon dioxide
ucose and carbon dioxide
€) Oxygen and ATP _

D) Oxygen and carbon dioxide

11) What are the benefits ﬂfl’mm 7 H i

A) It begins all food chain e Ve
B) It produces oxygengas .
C) It makes organic molecules like sugar :

D) All answers are correct

Dj ﬁhlﬂmphyll a+b

I J ik ".!-Um!-l-" ¥



FINAL EXAM (Form B) First term BIOL 101 2015-143¢

1) To block the enzyme action, the enzyme’s active site interacts with
'A) the enzyme’s substrate ;
B) competitive inhibitors e
' {:) non-competitive inhibitor el K
] All of them _




Which stage of aerobic respiration requires ATP?
a. Glycolysis
b. Oxidative phosphorylation.

c. Fermentation

d. Krebs cycle
Sledl A L T Vs aslb grling pplS pul



The are........... In aerobic cellular respiration?!
A-tow stages.
B-three stages.

C-one stage.
D-four stages.
Crumall wlgdl yiw)
17d51 9p)l Solsdl juaidl 8 ... Ja 1 JI
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Cell drinking

@ phagocytosis

@ pinocytosis @

@ exocytosis

All organisms require

@ DNA

@ RNA

@ energy @

Break down a complex molecules
@® anabolism

@® metabolism
@® catabolism @

Series of chemical reaction
@® metabolism @

@® anabolism

@ catabolism

The energy currency of cells
@ ADP

P ATPP

@ AQD

Enzymes have unique shapes
@ 3d®

999



Water travels from lower to high
¢ diffusion
&) active transport

) osmosis &

Solvent and solute particles move to equalize
) diffusion®)

) osmosis

¢) passive transport

Only solvent particles move
¢ diffusion

) osmosis
¢) active transport
¢) passive transport

Used to export bulky molecules
¢) endocytosis

@ exocytosis @

@ pinocytosis

Used to import substance
@ endocytosis @

@ exocytosis

@ phatocytosis

Cell drinking

@ phagocytosis

@ pinocytosis @

@ exocytosis

All organisms require
® DNA

P RNA

@ energy @



The membrane protein function as

) enzymes®)

Transport low to high is
¢) passive

O active ©

Active transport needed

Non polar molecules for example

) glucose

) sugars
¢) carbon dioxide ¢

Polar molecules for example
¢) carbon dioxide

&) glucose ©
&) oxygen

Moves down a concentration gradient (from high to
law)

) active
) passive®)

Facilitated diffusion a type of

() passive transport)
() active transport



_birds and mammals have

- small lungs

- large lungs

- simple lungs

- complex lungs v

_gas exchange have ............ phases
-one
- Threew”
- four
- eight

T ST . I1s a respiratory organ found in many
aquatic organisms

- gill v

- lungs

- air sacs

- body surface

7 S Loading and unloading of 02
- H20
-iron
- Hemoglobin v
chlorophyll -

JI Ll ae-l e diwl gas exchange

wsises @



Chapter 9:

' 2 diffuses into the blood
-02 v
- C02
-H20
- HCL

S diffuses out the blood
02
-CO2 v
-H20
-HCL

- S Where the exchange of gases takes place

- Bronchus

- bronchioles

- alveol

- alr sacs

-3 & 4w

Alr Wes ySany wllayg> sizy alveol] Wes pSao JIgudl b o 1 aba>Mo
wijlal ol adac pud waxig axumo plSg asled ywliSl sies SACS

_The pharynx is also called............
- Throat v
- Trachea
- alr sacs
- bronchus

_~Amphibians have ...........
- small lungs v

- large lungs

- simple lungs

- complex lungs



Chapter 5:

e Enables cells to produce ATP without
02
- Fermentation v
- Glycolysis
- photosynthesis
- cellular respiration

J And...........c..... Provide energy for

- Photosynthesis

,Cellular respiration v

- Photosynthesis, Glycolysis

- Cellular respiration, Glycolysis
- Fermentation, Calvin cycle

........................ Fermentation, oxidizing of NADH by
muscle and bacteria

- lactic acid v
- alcoholic

- glycolysis

- Calvin cycle

- glycolysis occurs in the..............

- Chloroplasts
- Cytoplasm v
- Mitochondria
- Nucleolus



? ST Harvest chemical energy from food.
- Chloroplasts
- mitochondria v
- Nucleolus
- Cell wall

Chapter 4 :

- Water moves across semi-permeable by .............
- Osmosis v
- diffusion
- active transport
- passive transport

- Break down a complex molecule called ..............
- catabolism v

- anabolism

- metabolism

- Pinocytosis

_ Block substrate from entering enzyme active site
called.............

- competitive inhibitors v

- non- competitive inhibitors
- OSMOSIs

- Active transport

"+ S Is the capacity to perform work

- Gas
- Co2
-Water

- energyv’




Chapter 3 :

e are the photosynthesizing organelles of
aII photosynthetic eukaryotes.

-stroma

- thylakoids

- Chloroplasts v
- granum

. specimens can be magnifiedup to ........ Times in
light microscope.

- 1000w
-10000
-1000000
-10

_The fall name for TEM
- Scanning electron microscope
- light microscope
- Scanning light microscope
- Transmission electron
microscope v

~The............. Is the cell's genetic control center

- chlorophyll

- Chloroplasts
- Nucleus v
- Nucleolus
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... Is not component of endomembrane system?
A. plasm membrane

B. Ribosomes

ologjsul, a4z

lp) 19516 sl pasd| oluawMdlg buiSginell lgil puogaie sl



+ o 8, @by 3l
micro molecules
macro molecules

Glycoprotein >>>> with membrane protein
Glycolipid >>>>> with membrane lipid

ECM function

- protect nucleus
-maintain cell movement
-protect cell membrane v



“~chloroplasts :

-An energy converting organelle

- found in plant cell

- double membrane Organelle

- All answers are correct v

</ To connected sacs inside chloroplast called :
- Thylakoids v

- Inner membranes

- outer membranes

- Inter membranes

D ole saiey SU U1 plablly guuiisi Ul slgpdl olioay J1§uw V<)
v sl sl -
Solx| Juaiidl-



</ Chlorophyll :

-absorbs oxygen
-absorbs sunlight v

- absorbs CO2

-absorbs water

</ECM function :

- protect nucleus
-maintain cell movement
-protect cell membrane v
-all answer are correct
'</Reactions which happened Soon after absorption
of sun light:

Light dependent v

Light independent



Microscope which can resolve cell organelle clearlys,

are called :

-light microscope
-Dessecting microscope
-All answers are correct
-Electron microscope v
< The pigment absorbs excessive light which damage
chlorophyll:

-Chlorophyll a
-Chlorophyll a+b
-carotenoid v
-Chlorophyll c



Continuity of life is based on heritable information in
the form of DNA

Extracellular dabs

ol sl

slgille Jadly

o laslle sl
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355 lo guax
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the science that names and classifies species into
. groups

a) biology

b) botany

c) taxonomy

c) zoology

Making polymers :dehydration by removing water

Breaking polymers: hydrolysis by adding water

. To connected sacs inside chloroplast called
Thylakoids -

Inner membranes -

outer membranes -

Inter membranes -

Inner vss, Le space LB b3l

I aylz>VI ad,le (gio
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40) Large solid particles enter the cell by a process
called: A. Exocytosis B. Phagocytosis nocy tosis D.
Polycytosis

Jl g Ul wlig uSIVl il « ayline vlaS Jlguw sy ADB JI ATB oo
Colr oud

B L-TVPNT.] CJIJL*.?I-L"*ZLA.MSI - clall

the lowest level of organization that can perform all
-activites required for life

a) atom

b) cell

Cc) organ

d) tissues
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Acttive/Passive/Divisions/Osmosis

Passive gall

Joity Jlguw (il
Reactions which happened Soon after absorption of
:sun light

Light dependent .
Light independent

lp) waxy Ul o,mdl ol 32l pinl k= Ul endocytosis

elb wlgxll polysaccharides seswl

sias cuns Ul gingl gy Jlgaw (il Ul

alzYls DAN

34) which of the following organelles is not found in
plant cells?
Lysosomes and centrioles

ol 53S150ll9 aazlpll pluzVl &)
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Signal celled amoeba and bactria different domains
because:

A- bacteria prokaryotic
B - both unicellular

0V oVl calio | @5 g buo 1 JI 6, |

Ll A-prokaryotic
adsdl g LMS - o
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RoRo ALshareef Pe
which of the following organisms is B Q-l
photoautotrophic?
A.Archaea
B.Fungi
C.plants and algaevw”
D.All eukaryotic organisms
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Sura Salem
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RoRo ALshareef
Cells import fluids by
A.phagocytosis
B.pinocytosisv”
C.Exocytosis
D.passive transport
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|s programmed by discrete unit of inheritance called :
- gene
- DNA

- nucleoide
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tracheais madeof..«? ?
muscle and elasticfibres -
elasticfibres with rings of cartilage -

muscle and elasticfibres with rings of cartilage v -

Heartis:? ?
Skeletal muscle -
CardiacmuscleV -

Somooth muscle-

Which oneistrue aboutRed blood: ? ?
Smooth-

Easy to flow through vessels -

Round-

AllV-

Function of skin; ? ?
Bind and supportothertissues -
Protective barrier v/ -

Provide movement-

Extracellular matrix of blood: ? ?
Collagen-
Plasma V-

Rubbly-

Redblood cellsare typeof ? ?



Nervoustissue -
Connective tissue Vv -

Muscles tissue-

Note @
Endergonicreactions >>>require energy >>> usually associated with anabolism ®

Exergonicreactions >>> release energy >>>usually associated with catabolism

Hydrolysis) ) (Dephosphorylation) ATP+H20 >> ADP +P)®

Dehydration)) (phosphorlation) ADP +P >> ATP + H20 )

ANFEPENRANEN

The membrane proteinfunction as

¥ The membrane protein function as
¥ enzymes¥

v cell

¥ DNA

¥ RnA

Transport low to highis

~

¥ passive

¥ active @



Active transport needed
V ATPW
¥ protein

¥ ADP

Non polar molecules forexample
¥ glucose
¥ sugars

¥ carbon dioxide @

Polarmoleculesforexample
¥ carbon dioxide
¥ glucose ¥

¥ oxygen

Moves down a concentration gradient (from high to law)
¥ active

¥ passive ¥

Facilitated diffusion atype of
¥ passive transport @

¥ active transport

Water travels from lowerto high
¥ diffusion
¥ active transport

¥ osmosis ¥

Solvent and solute particles moveto equalize

¥ diffusion¥



¥ osmosis

¥ passive transport

Only solvent particles move
¥ diffusion

¥ osmosis ¥

¥ active transport

¥ passive transport

Usedto export bulky molecules
¥ endocytosis
¥ exocytosis ¥

¥ pinocytosis

Used to import substance
¥ endocytosis @
¥ exocytosis

¥ phatocytosis

Cell drinking
¥ phagocytosis
¥ pinocytosis ¥

¥ exocytosis

All organisms require
¥ DNA
¥ RNA

¥ energy ¥

Break downa complex molecules



¥ anabolism
¥ metabolism

¥ catabolism @

Series of chemical reaction
¥ metabolism ¥
[

¥ anabolism

¥ catabolism

The energy currency of cells
¥ ADP
V ATP®

¥ AQD

Enzymes have unique shapes

Vv 3de

Chapter4¥
¥ cell
¥ DNA

<

¥ RnA

Transport low to highis

¥ passive

¥ active ¥

Active transport needed
V ATPW
¥ protein

¥ ADP



Non polar molecules forexample
¥ glucose
¥ sugars

¥ carbon dioxide @

Polarmoleculesforexample
¥ carbon dioxide
¥ glucose ¥

¥ oxygen

Moves down a concentration gradient (from high to law)
¥ active

¥ passive @

Facilitated diffusion atype of
¥ passive transport @

¥ active transport

Water travels from lowerto high
¥ diffusion
¥ active transport

¥ 0osmosis ¥

Solventand solute particles moveto equalize
¥ diffusion®
¥ osmosis

¥ passive transport

Only solvent particles move



¥ diffusion
¥ osmosis ¥
¥ active transport

¥ passive transport

Usedto export bulky molecules
¥ endocytosis
¥ exocytosis ¥

¥ pinocytosis

Usedto importsubstance
¥ endocytosis @
¥ exocytosis

¥ phatocytosis

Cell drinking

¥ phagocytosis
¥ pinocytosis @

¥ exocytosis

All organisms require
¥ DNA

¥ RNA

¥ energy ¥

Break down a complex molecules
¥ anabolism

¥ metabolism

¥ catabolism ¥

Series of chemical reaction

¥ metabolism ¥



0

¥ anabolism
¥ catabolism

The energy currency of cells
¥ ADP
V ATP®

¥ AQD

Enzymes have unique shapes

Vv 3dv
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The Fundamental function of cellular respiration ? ?
Releases CO2-

Releases O2-

Generating ATPV/ -

Generating ADP-

watersplitto provide ? ?
O2only -

02 & electrons v -
electronsonly -

water -

light reaction convertedinthe ? ?
Calvincycle -

thylakoids membrane v -



both -

allisincorrect -

Thereis stage in photosynthesis ? ?
1 -

v2-

Chlorophyll containof ? ?
chlorophyllAandB v -
chlorophyllA,Band C -

chlorophyllAand C -

not of these -

Photosynthesis and cellsrespirationare ? ?
Redox v -
reduced -

oxidation -

allvv -

Cellularrespirationrelease ? ?
lightenergy -
chemical energy v -

both -

CO2isreducedto ? ?
plant -
sugar v -

water -



light -

Water moleculessplit by ?2?
reduced -
oxidation v -

both -

Absorb excessive light that would damage chlorophyll ? ?
carotenoids v -

chlorophyll -

both -

photosynthesis -

Leavesare green because contain ? ?
carotenoids -
chlorophyll v -

both -

Chloroplastscontain ? ?
chlorophyll -
carotenoids -
both1+2 v -

mesophyll -

Leaf absorbed sunlight, soitreflected ?27?
blue light -
readlight -

greenlightv -

sunlight -



Thylakoids are concentrated in a STRUCTURE called ?27?
granum v/ -

stroma -

both1 +2 -

membrane -

intheleafinput __ output_ ???
Co2, h2o-

H20, co2-

Co2,02 V-

02, co2-

Chloroplasts are foundin the mesophyll, ? ?
Mesophyllis
greenpigment -

greentissue v -

leaf -

tree -

Earth's plants produce 160 billion metric TONS of sugar each yearthrough ?27?
photosynthesis v -

cellularrespiration -
both -

ATP -

Photosynthesis make organic molecules Sugar Glucose outinorganicmolecules ? ?
materials like-

Oxygen -
carbon dioxide -
water -

Vv 3+2 -



What of the following are Example for photoAutotrophs( ? ?
bacteria -

bacteriaand archae -

plant -

plantand algae v -

Food chain level for Heterotrophsis ? ?
secondary -

primary -

primary and secondary -

secondary andtertiary v -

Photo autotrophs make theirown food by using ?27?

energy -

ATP -
lightv -

lighting -

Enzymesalsorequires ____ forbestresults ? ?
ATP -

pHV -

hp -

PTS -

Human enzymes functionbestat ? ?



Heterotrophs can produce organic compounds frominorganic ? ?

7
4X|

Sugarin photosynthesis make of ? ?
Carbo -

carbon dioxide only -

carbon dioxide and water v -

water -

Plantneed some only (lightenergy +co2 + h20 ) to make ? ?
food -
sugar v -
water -

fungi -

Begin allfood chain ? ?
photosynthesis 1V -

gas -

cell -

all correct -

Mitochondriapresentin ? ?
animal cell -

plantcell -

bothv -

chlorophyll -

Chloroplastsare foundin ? ?



mesophyll v -
chlorophyll A -
chlorophyll B -

all -

Mesophyllis 2 ?

blue tissue

redtissue

yellow tissue

greentissue v/

Chloroplasts consists of TWO membrane surroundinganinnerroomcalled ? ?
granum -

chlorophyll -

Thylakoids -

stromav -

Plantabsorbed and reflected greenlight ? ?
sunlight v -
white light -

redlight -

all -

Absorb excessivelight that would damage chlorophyll ? ?
mesophyll -

cellmembrane -

carotenoidsv -

all -

02 actually comesfrom ? ?



Cco2 -
H20V -

both -

Water molecules are splitapart by oxidation that mean they electron ? ?
gain -
losev -

both -

CO2 reducedto ? ?
milk -

water -

protein -

sugarv -

Light reaction light energyis converted to chemical energy and O2in ?27?
thylakoid membrane v - 1

cell - 2

stroma- 3

granum- 4

Water splitsto provide ? ?
02 -

02 and electronV -

02 and protein -

protein -

Produce ATP to use as fuelin ? ?
lightreaction -

dark reaction v -



cellularrespiration -

The ATP which produce at the firststage usesin ? ?
Dark reaction v/
Lightreaction

Kribs cycle

Duringthe Calvin cycle CO2incorporated into organiccompounds a process called ? ?
carbon oxidation -
carbon reduced -
carbon fixationv -

all -

Light independent reaction canoccurin ? ?
lightreaction -
dark reaction -

bothv -

Dark reaction happenwhen ? ?
lightis present -
ATP ispresentv -
sugarid present -

H2o id present -

© arand el

ch5

Stage 3 of cellularrespiration happenin ? ?

Innerspace -



Interspace -
Innermembrane V-

Intermembrane-

The scientist who discoverthe krebs sycleis: 2 ?
Tom krebs-

Michael krebs-

Hans krebs V-

Adolf krebs-

The outputs of the firststage in cellularrespirationare ? ?
ATP+2 pyruvate + 2NADH v/ 2-

ATP+2 pyruvate + 2NADPH2-

ATP+2 pyruvate + 2NADH1-

ATP+1pyruvate + 2NADH2-

How many C atom does pyruvate have ? ?
2-

v3-

6-

None-

In cellularrespiration glucose H+atom convertedto... ? ?
H20-

Co2 V-

Glucose -

ATP-

Cellularrespiration equation is helpfulto show the changesin.....atom ? ?



In what stage the co2 is considered as producersin the cellularrespiration ? ?
Kribs cycle v/ -

Glycolysis -

Oxidation phosphorylation -

Lightindependent reaction-

-~
-~

NADH participatesin

And NADPH participatesin

catabolicreaction, anabolicreaction v -

anabolicreaction, catabolicreaction -

Mitochondriagenerate ATP from ? ?
light -

water -

sugarv -

all -

Cells breakdown glucoseto ? ?
co2 -

water -

waterand o2 -

co2 and waterv -

ATP for work is existas ? ?

light -



sugar -
heatV -

pigment -

Mitochondriacontain ? ?
cellularrespiration -
respiration enzymes v -

both -

Inrespiration- breathing supplies to our cell and removes ?27?
02,2-

02, co2V -

co2,02 -

water, sugar -

Yourbody require a continuous supply of energy justto ? ?

sleep -
stay away -

stay alive v -

play -

Yourbody require a continuous supply of energy justto ? ?
keepthe heart pumping v -

to breath v -

stay alive v -

to maintain body temperaturev -

Your brain require alarge quantity of glucose that EQUAL ? ?

g 100 -



220 -
g 300 -

gv 120 -

The energy unitsare ? ?
ampere -
glucose -

kilocalories v -

all -

Isa quantity of heat to rises the temperature of.1kg of waterto 1°C ? ?
KcalVv -

lighting -

speed enzymes -

chemical energy -

sl

ch6

How pairs of chromosomesinhuman ? ?
46-

v'23-

Wich of the following are necessary for chromosomal organization ? ?
Nucleosome-

Chromosome -



Chromatin v/ -

DNA-

DNAis :? ?
polynucleotide 1-
polynucleotide v 2-

polynucleotide 3-

DNAreplication happenin : ? ?
Onedirection -
Two directions v -

Three directors-

DNA replication proceed happen : ? ?
In several times-
Onetime-

simultaneously V-

The basicunit of chromatinis: ? ?
Chromosome -

Nucleotide-

Nucleosome V-

Nucleus-

DNA geneticinformation carriedby ? ?
Chromosome -
Chromatin -

mRna v -

The new DNA molecules are similarto the parental DNA molecule: ? ?



%70-
%100-
v %50-

%90-



Cells import fluids by
A.phagocytosis
B.pinocytosisv”
C.Exocytosis
D.passive transport
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which of the following organisms is
photoautotrophic?

A.Archaea

B.Fungi

C.plants and algaevw”
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Chapter3

1-Which of the following type of microscope is used to study the internal structure of the
cell?

a) Light Microscope

b) Scanning electron microscope

¢) Transmission electron microscopes
d) None of the above

2-Which one of the following is found in animal cells?

a) Central vacuole
b) cell wall

c) Lysosome

d) Chloroplast

3-Ribosomes are synthesized in

a) Nucleolus

b) Nucleus

c) endoplasmic reticulum (ER)
d) Golgi apparatus

4-Which one of the following organelles can digest macromolecules such as proteins, and
use enzymes to recycle the damaged organelles?

a) Lysosome
b) Ribosome
c) Nucleus

d) Mitochondria

5- Which one of the following are Energy-Converting Organelles?

a) Mitochondria& Ribosome
b) Ribosome& Chloroplasts
c) Mitochondria & Chloroplasts
d) Ribosome& Mitochondria

6- Extracellular matrix (ECM) is made up of

a) Cellulose

b) collagen fibers
c) fats

d) Glucose



7- Which one of the following organelles is not a part of the endo-membrane system?

a) Lysosome
b) Ribosome
c) Chloroplast
d) Golgi apparatus

R is one of the Smooth ER functions

a) lipids synthesis

b) Distribution of manufactured proteins
Cc) protein synthesis

d) None of the above

9-The cells of Pancreas that secrete digestive enzymes have an abundance of......, which
receive & pack these enzymes into transport vesicles to release their contents outside the
cells.

a) Ribosome

b) Chloroplast

c) Golgi apparatus
d) Mitochondria

10- cuiiiiiiiiiinieraeaees are the sites of protein synthesis.

a) Mitochondria
b) Lysosomes

c) Ribosomes

d) Golgi apparatus



Chapter 4

1- The Cell membrane phospholipids have a............. head and two ........... tails.

a) Hydrophilic& hydrophobic
b) Hydrophobic& hydrophilic
c) Hydrophilic& hydrophilic

d) Hydrophobic& hydrophobic

2- The cell membrane allows some substances such as .........cccccuuee. to cross more easily
than others.

a) Oxygen
b) Carbon dioxide
c) Water
d) All of the above

3- Which one of the following mechanisms is used to export bulky molecules, such as
proteins or polysaccharides?

a) Endocytosis
b) Exocytosis
c) Diffusion
d) Osmosis

Boeiiiiiiniieeneeneea is a biological process, which uses ATP to pump molecules
AGAINST/UP the concentration gradient ( molecules move from a low concentration of
solute to high concentration of solute).

a) Passive Transport
b) Active Transport
c) Osmosis

d) Endocytosis

O it is the net movement of molecules from a region of higher concentration to a
region of lower concentration.

a) Passive transport
b) Osmosis
C) Active transport

d) Pinocytosis



6- Which statement is CORRECT about osmosis?

a) It occurs only across a semi-permeable membrane

b) Water travels from a solution of lower solute concentration to a solution of higher solute
concentration

c) A+b

d) None of the above

7-Which one of the following statement is TRUE about diffusion?

a) It involves movement of solvent molecules

b) It occurs when particles move from a region of lower concentration to a region of higher
concentration

c) It does not require a semi-permeable membrane

d) All of the above

8- To block the enzyme action, the enzyme’s active site interacts with

a) the enzyme’s substrate

b) competitive inhibitors

€) non-competitive inhibitor
d) All of them

9- The study of energy relationships and their transformation is called

a) Photosynthesis
b) Metabolism

c) Thermodynamics
d) Oxidation

10- ATP is composed of adenine (a nitrogenous base), ribose (a five-carbon sugar), and

a) three phosphate groups
b) two phosphate groups
c) one phosphate groups
d) none of the above
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Chapter 5

Which of the following statements is FALSE?

Krebs cycle is also called citric acid cycle
Krebs cycle occurs in the cytoplasm
Krebs cycle produces 2 ATP

Krebs cycle supplies the third of cellular respiration with electrons

The energy currency of the cell is

Glucose

ATP

Protein

lipid

Glycolysis begins respiration by breaking
ATP

Pyruvate

Glucose
Protein

Cellular respiration can produce up to ATP molecules for each

glucose molecule.

23
13
31
20

Cramps during exercise are caused by:

Alcohol fermentation
Lactic acid fermentation
Glucose

Glycolysis

The average adult human needs ----------- of energy per day.

2200 Kj
2200 km
2200 kcal
2200 kg




7. Which of the following is necessary for oxidative phosphorylation to
occur?

ATP

Oxygen
Carbon dioxide
Water

apop

8. During cellular respiration, glycolysis occurs in:

Cytoplasm

Thylakoids

Chloroplast
mitochondria

ooow

9. Fats are excellent sources of energy because they

Contain many hydrogen atoms

yield more than twice as much ATP per gram than a gram of carbohydrate
Yield more than twice as much ATP per gram than a gram of protein.

All of the above

apop

10. Which one of the following are the products of the Krebs cycle?

a. ATP

b. NADH

c. FADH

d. All of the above

11. In eukaryotic cells, the ATP is produced by

a. Mitochondria
b. Nucleus

c. Cytoplasm

d. Chloroplast

12. Single-celled microorganisms that not only can use respiration for
energy but can ferment under anaerobic conditions are called :

Yeasts
molds
Bacteria
Protists

ooow

13. The final electron acceptor in aerobic respiration is:

CO2
O2
NAD*
ATP

oo



14. Which one of the following processes produces the most ATP?

a. Glycolysis

b. Oxidative phosphorylation
c. Fermentation

d. Krebs cycle

15. ATP can be generated from

Lipids
Carbohydrates
Proteins

All of them

ooow

16.The role of cellular respiration is

a. Breaking down glucose to make ATP

b. Forming glucose from carbon dioxide and water
c. Forming water from glucose

d. consuming ATP to form oxygen
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Chapter 6

The first stage of photosynthesis takes place in the..........

Thylakoids
Grana
Stomata
Stroma

Which of the following is not required during photosynthesis

Water

Carbon dioxide
Oxygen

Light

During what stage of photosynthesis is Oz produced?

Carbon fixation

Light — dependent reactions
Light — independent reactions
Calvin cycle

In the process photosynthesis

Carbon dioxide and water are oxidised
Carbon dioxide is reduced and water is oxidized
Carbon dioxide and water are reduced
Carbon dioxide is oxidized and water is reduced

Both carotenoids and chlorophyll are

Coenzymes
Organelles
Pigments
Cofactors

required for the Calvin cycle

a product of the Calvin cycle
required for the light reactions

not required during photosynthesis
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In the light reactions, solar energy is converted to chemical energy
stored in both ATP and

AMP
ADP
NADPH
NADH

The Calvin cycle occurs in the of the chloroplast.

Stroma

Stoma

Thylakoid

The inner mitochondrial membrane

In the leaf, chloroplasts are concentrated in the

Epidermis
Veins
Mesophyll
Thylakoids

In the leaf, the CO2 enters and the oxygen released
through

Stroma
Stoma
Granum
Epidermis

Plants are

Autotrophs
Prototrophs
Heterotrophs
Auxotrophs

The oxygen released during photosynthesis comes from:
Carbon dioxide

Carbon dioxide and water

Water

Glucose



14. What energy-rich organic compound is produced as a result of the
Calvin cycle?

a. ATP

b. Sugar
c. NADPH
d O

15. The chloroplast is the site of photosynthesis in a plant cell. It is
enclosed by membranes.

One
Two
Three
Four

apop

16- In plant cell, leaves are

Responsible for storage
Responsible for photosynthesis
Responsible for support

None of the above

oo oTw



Chapter 9

1-What is the function of DNA?

a) to assist in cell division

b) to control the heredity

c) to help in the synthesis of protein
d) All of them

2- Nucleic acids are composed of

a) Nucleotides
b) Only Cytosine
c) Only ribose
d) None of them

3- Which one of the following base is found in RNA but not DNA?

a) Cytosine
b) Adenine
c) Uracil

d) Thymine

4- Each nucleotide in a DNA molecule consists Of --------=--——-—mmmem——-

a) aphosphate group, a hexose sugar and a nitrogeneous base.
b) a sulfonyl group, a pentose sugar, and a nitrogeneous base.
c) aphosphate group, a pentose sugar and a nitrogeneous base.
d) aphosphate group, glucose , and a nitrogeneous base.

5- Chromatin is a complex of

a) DNAand protein
b) RNA with protein
c) Only DNA

d) DNA and fat



6- What is the process called when messenger RNA is synthesized to match a certain gene?

a) Replication

b) Translation

c) Transcription

d) None of the above

7- The Product of translation is

a) Glucose
b) mRNA
C) protein
d) lipids



Chapter 10

1- Red blood cells are type of..........

a) Nervous tissue
b) Connective tissue
C) Muscle tissue

d) Epithelial tissue

2- Ligaments connect

a) Ends of two bones
b) Muscles to bone
c) Epithelia to underlying tissues

d) None of them
3- Which of the following has a single layer but appears stratified?

a) Stratified squamous epithelium

b) Pseudostratified columnar epithelium
C) Simple squamous epithelium

d) Simple cuboidal epithelium

4-Which of the following tissue does cover the outside of the body and line organs and
cavities within the body?

a) Muscle tissue
b) Epithelial tissue
c) Nervous tissue
d) Connective tissue

5-Columnar epithelium is found in

a) Kidney

b) Liver

c) Capillaries

d) Small intestine



6-Cardiac muscle is

a) Involuntary
b) Voluntary
c) Atb

d) None of them

7-What type of muscle is responsible for contractions of the stomach and small intestine?

a) Skeletal muscle
b) Smooth muscle
c) Cardiac muscle
d) All of them

8-Which of the following connective tissue is responsible for oxygen and nutrients
transportation?

a) Bones
b) Adipose
c) Blood
d) Cartilage
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Chapter 11

The largest organ that has the function of cleaning the blood is called
the

Heart
Liver
Lungs
Pancreas

helps regulate the glucose level in the blood stream

20 o

Heart
Liver
Lungs
Pancreas

is located near the junction of small intestine and colon.

Gall bladder
Pancreas
Appendix
Spleen

emulsifies fat before they get attacked by pancreatic enzymes.

oo

Insulin
Bile
Adrenaline
Gastrin

5- Tiny finger like projections in the small intestine.

6-

oooTe

Villi
Alveoli
Pilli
Cilia

is @ muscular hollow located between the esophagus and the small

intestine.

oo

Gall bladder
Liver

Stomach

Small intestine



7- Small glands that begin digestion of starch.

20 o

Adrenal
Thyroid
Pineal

Salivary

8- An enzyme that begins the chemical digestion of proteins.

a.
b.
C.
d.

Pepsin
Lipase
Amylase
Lactase

9- Stomach cell wall secrete hydrogen & chloride ions, which combine to make

oo

Nitric acid
Citric acid
Hydrochloric acid
Acetic acid

10- A semi-liquid mass of partially digested food in the stomach

11-

12- Nutrient molecules enter the body cells by

oo

Bile

Chyme

Feces

Bolus

is a muscular tube connects between pharynx and stomach.

2o o

o0 o

Small intestine
Trachea
Larynx
Esophagus

Ingestion
Digestion
Absorption
Elimination


http://www.biology-online.org/dictionary/Mass
http://www.biology-online.org/dictionary/Food
http://www.biology-online.org/dictionary/Stomach

13- Which of the following are meat-eaters?

Herbivores
Omnivores
Producers

Carnivores

20 o

14- contributes to blocked blood vessels and high blood pressure.

HDL
LDL
DHL
DSL

oo o

15- Animals cannot produce of the 20 amino acids named essential
amino acids.

Six

Eight

Ten

Twelve

oo o

16- This organ produces a digestive juice that contains a wide array of enzymes to
break down carbohydrate and protein in food.

Liver
stomach
gall bladder
Pancreas

2o o
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Chapter 12

All gases exchanged between air and blood in mammals occurs
across the walls of the

Bronchi
Bronchioles
Alveoli
Trachea

The most common gas found in air is

Oxygen
Hydrogen
Carbon dioxide
Nitrogen

Which of the following animals have tracheal system that provides
direct exchange between the air and body cells?

Reptiles
Amphibians
Insects

Fish

The majority of carbon dioxide is transported in the blood :

attached to hemoglobin

bound to oxygen

as bicarbonate ions in the red blood cells
dissolved in the plasma

Mollusks have

no specialized respiratory organ
lungs

gills

tracheal system

The exchange of gases between interstitial fluid and the blood occurs
in the:

Arteries
Capillaries
Veins
Arterioles



7. The urge to inhale results from:

coow
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Rising PCO2
Rising PO2
Falling PCO2
Falling PO2

During exhalation in humans, air moves from the bronchus into the:

Bronchioles
Alveoli
Pharynx
Trachea

Diffusion occurs when molecules move from an area of
High concentration to an area of low concentration.

High concentration to an area of high concentration

Low concentration to an area of low concentration

Low concentration to an area of High concentration

During exhalation the chest contracts and the diaphragm moves

downward
upward

to the left
to the right

The heart right side pumps blood to the lungs.

nitrogen-poor
nitrogen-rich
oxygen-rich
oxygen-poor

. Gases in the tissues have than in the blood

more CO2 and less Oz
more Oz and less CO2
more Nz and less CO2
more Oz and less N2
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Hemoglobin in red blood cells carries up to 4 O2 molecules.

One
Two
Three
Four

In the body tissues, blood

drops off CO2z and picks up Oz
drops off N2 and picks up CO2
drops off Oz and picks up CO2
drops off Oz and picks up N2

is an iron compound which constitutes the pigment

portion of the hemoglobin molecule.
Hemolymph

Heme

Hematocrit

Hemorrhoid



